
0

25
6

51
2

0
14

210

0

34

371

406
28 48

3

84

341

261

0 28

1" NPT PORT (4x)

1/4" NPT PORT
w/ PLUG

ROTATION

06314
5

39
9

0

406

44

0855

274

318

31
.5

AIRFLOW

1/4" NPT PORT
w/ PLUG (2x)

13.5 TYP

0 19 38 61 47
3

45
1

49
3

51
2

0

79

168
188

NOTES: UNLESS OTHERWISE SPECIFIED
1. DIMENSIONS ARE mmE

REVISION
REV. ECN DESCRIPTION DATE DESIGNER

E Redrawn in SolidWorks 2/10/2012 Nance

REV.
3703.059.0000

X-AOC15-3

1 of 2

UNLESS OTHERWISE SPECIFIED
    1. Dimensions are mm.
    2. All dimensions are 
        reference unless
        tolerance is specified.

PRINT DATE: 2/10/2012

DRWN BY:

DATE:

ENGR: White

Isley

TITLE

DWG. NO.

PAGE:

1/8/99 E

Work Pressure
(psi) (Max)

Test Pressure
(psi) (Max)

Paint
Part No: X-AOC15-3

250

190

BLACK

Max Temperature (ÁF) 250

THE INFORMATION HEREON IS THE PROPERTY OF 
NANO-PURIFICATION SOLUTIONS. ANY COPYING 

OR TRANSMITTAL WITHOUT PERMISSION FROM 
NANO-PURIFICATION SOLUTIONS IS PROHIBITED

www.nano-purification.com



1

2

6

4
5

7

3

1315
121314

12 13 14

13 15

8 9 10 11

REVISION
REV. ECN DESCRIPTION DATE DESIGNER

- - See Sheet1 - -

15 10 8050.019.0000 BLT HX FLG M8X1.25 X 25mm CL10.9 YZ
14 4 8054.034.0000 5/16" Std. Lock Washer
13 14 8054.033.0000 FLW 5/16 X 7/8" OD GR5 ZTR
12 4 600092 Hex Head Bolt M8x16 - 8.8 A3B
11 5 8054.018.0000 M6 Lock Washer (Zn)
10 5 8054.041.0000 FLW M6 X 12mm OD CL10.9 YZ CAT #9X8256
9 4 3703.285.0008 BLT HX FLG SRRT M6-1 x 20mm
8 1 3703.285.0006 BLT HX FLG SRRT M5-.8 x 12mm
7 1 8400.130.0012 Fan 11.75-6-2L-PPG-30ÁBH 14mm X 5mm
6 1 8407.115.4002 Motor 1/2HP, D71C, 3PH, 3450 RPM TEFC
5 1 3703.158.4030 Fingerguard
4 1 3703.023.0002 Left Mounting Bracket
3 1 3703.023.0001 Right Mounting Bracket
2 1 3703.158.4010 Shroud
1 1 3703.059.1000 X-AOC15-C Cooler Assembly

ITEM 
NO. QTY. PART NUMBER DESCRIPTION

REV.
3703.059.0000

X-AOC15-3

2 of 2

UNLESS OTHERWISE SPECIFIED
    1. Dimensions are mm.
    2. All dimensions are 
        reference unless
        tolerance is specified.

PRINT DATE: 2/10/2012

DRWN BY:

DATE:

ENGR: White

Isley

TITLE

DWG. NO.

PAGE:

1/8/99 E

Work Pressure
(psi) (Max)

Test Pressure
(psi) (Max)

Paint
Part No: X-AOC15-3

250

190

BLACK

Max Temperature (ÁF) 250

THE INFORMATION HEREON IS THE PROPERTY OF 
NANO-PURIFICATION SOLUTIONS. ANY COPYING 

OR TRANSMITTAL WITHOUT PERMISSION FROM 
NANO-PURIFICATION SOLUTIONS IS PROHIBITED

www.nano-purification.com


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View5

	Sheet2
	Drawing View4


